GENERAL SCIENCE MOST IMPORTANT QUESTIONS SAMPLE PAPER -4

1.In a food chain manis a -
Ue Gy Aol 7 Ua 3EHT §
a) Producer/ f@&Tar
b) Only primery consumer/ haol ITATHS ITHFAT
c) Only secondary consumer/ hdd gidcirdeh IUHIFAT
d) Primary as well as secondary consumer/ STIf#e & HTL-AT &facITeh ITsiterar

2.Diploid number of chromosome in man is —
Hosar 3 TURAT ¥ ey HeEar gl -

a) 23

b) 24

c) 46

d) Indefinite number/ 3fAT¥aa g&ar

3.Which of the following is used in the treatment of cancer?
AeIfafad & & fhaerT Tater FIR & 39aR & fhar Srarg?

a) Electrotherapy/Solareradr

b) Psychotherapy/@Tgsehrady

c) Chemotherapy/ HrErATdY

d) Physiotherapy/frforaTaRdy

4.Blood is a type of —

I&Fd Teh YR T BIdT o-
a) Reproductive tissue/ Usleldd Zcdeh
b) Connective tissue/ TATST Fdeh
c) Epithelial tissue/ 39shell 3k
d) Muscular tissue/ 92T s

5. Which of the following products are formed when a lead storage battery is discharged?

8 TS Il & ferars gy R Aeafaf@a & @ i a1 3cure se9ar g?

a) S02

b) Pb

c) PbO2
d) PbSO4

6.Which metal is used in an aircraft turbine engine?
AT & TSl Soiol H T &1 T AT FohT ST &2
a) Iron/ olTgT
b) Thorium/ 2RTH
c) Titanium/ TEHITH
d) Neodymium/ Raifs@as
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7.Which one of the following is smallest gland of body —
frafaf@d # & Fla-dr el Fr gea sy it g-

a) Liver/Jehd

b) Salivary gland/ &R I

c) Pituitary/ egedr

d) Thyroid/ 4181838

Explanation: Your pituitary (hypophysis) is a pea-sized endocrine gland at the base of your brain.
PITUITARY HORMONES
PITUITARY GLAND
(HYPOPHYSIS)
DIAMETER: 1 CM
WEIGHT: 0.5-1 GM

LIES: SELLA TURCIA .,
TWO PORTIONS AL QAN L)) foon
1- ANTERIOR PITUITARY &SIV { )

- Anterior., nundulum
(ADENOHYPOPHYSIS) = - sty
2-POSTERIOR PITUITARY Phutary land J v
(NEUROHYPOPHYSIS) " —— i

8.Colour of skin depend on —
AT T T fAIR T & -
a) Enzyme/ UaasH
b) Hormones/ gT&Eleg
c) Epidermis/ TRSfHTE

d) Melanin/ #aifeleT
9.An oscillator produces................ oscillations
T AT oo, arelel T 3cUTGeT T &

a) Damped/sH

b) Undamped/ 31f@Ra

c) Modulated/ @amgsHh

d) None of the above/ 318 & FIS 3ft sTgY

10.What is the Sl unit of viscosity?
QATTAT ¥ S| SHTS FATE?

a) Candela/ &esar

b) Poiseiulle/ AigdI3eer

c) Newton/m/=gcs1/TH

d) No units/ IS FHIS 6T
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11.Which one of the following animals has a three chambered heart?
Afaf@a 7 & fha SaaX 1 gea A FaT grarg?

a) Scoliodon/ THiferASI

b) Salamander/ damdsT

c) Pigeon/&hedY

d) Human being / #sT

Explanation : Salamander belongs to group Amphibia, which shows 3 chambered heart (two auricles and
one ventricle)

12.Cobra emits vemon through :

HIRT FrTe ATCTH Y FY &1 STl HLar e :
a) Fangs/®e &
b) Tooth/&rd
c) Lower jaw/ f=relr ST&sT

d) None/ S 8T

13. The number of water molecules differing in molecular mass formed by hydrogen isotopes 'H,%H, *H
and oxygen isotopes °0, 170, 0 is
EISSISTel ATSACIT H,2H, *H 3R 3iferiiatet s dIeid 1°0, 170, ¥0 ganT a1fad 3MoTfae e T # fest el
% ToT3it T HET §

a) 6

b) 9

c) 12

d) 18

14. p-orbitals in a given shell can accommodate up to

el BT a7w At F N-3ifdeorm A gARGT R g &

(a) Four electrons / IR Selaelal
(b) Two electrons with parallel spin / THATTR &I aTel &t SelgFeieT
(c) Six electrons/ &g Soaclal

(d) Two electrons with opposite spins / faadd selarelaAl aTer & SolarelaT

15.0xygen transportation in a human body takes place through — (1) Blood (2) Lungs (3) Tissue
ATAT QR T 3Tt T IR g fohaeh ATETA A @IATE - (1) T (2) B3 (3) S

a) 1,2,3

b) 3,1,2

0 21,3

d) 1,3,2

16.Cholecystokinin is a hormone which when injected in human body
Pl RCI[ehfels] Teh THANT g ToTd HTeld TR # Sotere TohdT ST &
a) Increases appetite/ ﬂ‘:@m%
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b) Increases appetite and thirst/ H(:@S-ﬁTWTFH?EIT—IT%
c) Decreases appetite/ WWW%
d) Decreases appetite and thirst/ agggaﬁwqmafrmm%

17. If a bond is made up of a large number of organic compounds, then the bond is termed as?
IfE T Fe1eT 951 HE&AT H FIdfeich JRT & FAT §, Y ST ol 37 gl ST 57

a) lonic bond/ 3mafees St

b) Metallic bond/ €T s1=

c) Covalent bond/ Tg@dIeTs ST

d) Dipolar bond/ Efagdra sereT

18.Ethyl alcohol obtained by fermentation of starch or molasses is called wash, and what is it’s purity?
TeTd AT 2 & FoFuast & ATee TRIST ieehlge HY ATl gd €, 3R SHET eyar F T E?

a) 15%

b) 99%

) 99.9%

d) 95%

Explanation: The alcohol obtained from molasses is called “wash” which contains the low percentage of
ethyl alcohol (15-30%).

19.The gun recoils after firing a bullet due to

el ey ¥ a1e de TS g §
a) Newton’s Third Law of Motion/ #gsT &T 3Tfel T T o as
b) The backward thrust of gases/ 3Gt &1 A& SR
c) Newton’s First Law of Motion/m@"ﬂﬂﬁrﬂwﬁﬂﬁ
d) Conservation of Energy/ FoiT GR&TOT

20. In a conductor, if 6-coulomb charge flows for 2 seconds. The value of electric current will be
Ueh FEacy H, AR 6-Feaa ATt 2 WS & forw yarfed grar €1 faege o &1 AT gher

a) 3 ampere

b) 3volts

c) 2amperes

d) 2volts

21. The other name for branched chain alkanes is
AT HG T 3eehed I GHI ATH 3

a) Paraffins/ tRiftheT

b) Isoparaffins/ 3TEATRIG=a

c) Neoparaffins/ faardRifeea

d) Naphthenes/ a®fia@

Explanation: Linear and branched chain alkanes have difference in their physical properties and hence
they are given different prefix like n- and iso-respectively.
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22.Which is farming along with animal husbandry called ?
TRIATeTeT & TTY-HTY Wil T T gl ST g ?

a) Mixed farming/ f8a @dr

b) Dairy farming/ q¥I 3cqicsl

c) Mixed agriculture/ AT HTY

d) Truck farming/ T& Wd

23. More than 200 chromosomes occur in
200 & 31f8eh JURET AR

() Dog/ F

(b) Amoeba/ 31T

(c) Chicken/ et

(d) Gorilla/ MReel

24.The hydrophilic nature of DNA is due to presence of:
SITAT S BT Teleh Fehfel & IUTEAT & HROTE:
a) A number of hydrogen bonds/ %S g8l a8
b) Phosphate group/ BIEhe HHg
c¢) Deoxyribose sugar/ Y3 TFIRTSSIST AR
d) Thymine base/ i3RI ST

25.The power of a concave lens is

3TarcTel oI & &THCT 8T &
a) Real/ 31&el
b) Virtual/ arEafas
c) Positive/ HhRIcHS
d) Negative/ sThRIcHSR

A concave lens diverges a parallel beam of light on refraction through it. It is also called as diverging
lens. The lens’s power is equal to the reciprocal of its focal length.

A concave lens will always have a negative focal length because it is a diverging lens. Consequently, a
concave lens likewise has a negative power.

Teh 3TTcel ol 3T9dcle] X TERT2T T Ueh THTTCR [h0T T S8k ATETH T TI&I T il & | 8 I9aRT o o
T ST & | o1 2T &THCT 3HeRT Blehel olalls & cqcshH & SIS I o |

37T o FI Plehel FETS AR FHUMCHS Bld § FAITh T Teh TR oI F & | FdTeTdsT, ade o F 7 off
TAPRIcHS T gt g |



